

$$S_0 = \frac{1}{r}(S_1 - S_0) \Rightarrow rS_0 = S_1 - S_0 \Rightarrow rS_0 = S_1$$

$$S_n = \frac{n}{r}(ra_1 + (n-1)d) \Rightarrow r \times \frac{0}{r}(ra_1 + \ell d) = \frac{1 \cdot 0}{r}(ra_1 + 9d) \Rightarrow$$

$$r(a_1 + \ell d) = ra_1 + 9d \Rightarrow ra_1 + \ell d = ra_1 + 9d \Rightarrow ra_1 = d \Rightarrow a_1 = \frac{d}{r}$$

$$a_r = a_1 + rd \Rightarrow a_r = \frac{r}{r}d$$

$$a_1 = \frac{1}{r}d \Rightarrow \frac{\frac{r}{r}d}{\frac{1}{r}d} = \boxed{r}$$

✓

$$t_n = t_{n-r} + 10 \Rightarrow a_1 + (n-1)d = a_1 + (n-\ell)d + 10 \Rightarrow nd - d = nd - \ell d + 10$$

$$rd = 10 \Rightarrow d = 0$$

$$t_9 = a_1 + 1d, t_0 = a_1 + \ell d \Rightarrow t_9 = t_0 + \ell d \Rightarrow$$

$$t_9 - t_0 \Rightarrow (t_9 - t_0)(t_9 + t_0) \Rightarrow rd \times (t_0 + \ell d) \Rightarrow \ell d(t_0 + \ell d) = \ell d(a_1 + \ell d)$$

$$a_0 = a_1 + 4d \quad \frac{\ell d(a_1 + \ell d)}{a_1 + \ell d} = \ell d \Rightarrow \ell(d) = \boxed{\ell}$$

$$a_1 = 2(1 - 4\sqrt{3}) \quad a_n = 2 + \sqrt{3} \quad n = 18$$

$$a_{18} = a_1 + 17d \Rightarrow 2 + \sqrt{3} = 2(1 - 4\sqrt{3}) + 17d \Rightarrow 2 + \sqrt{3} = 2 - 12\sqrt{3} + 17d$$

$$17\sqrt{3} = 17d \Rightarrow \boxed{d = \sqrt{3}}$$

$$a_1 = r \quad a_n = rn \quad m = rn - \ell + r = rn - r \Rightarrow rr = r + ((rn - r) - 1)d \Rightarrow$$

$$r \cdot (rn - r)d \Rightarrow r \cdot (rn - r)d \Rightarrow r \cdot (n-1)d \Rightarrow 10 = (n-1)d \Rightarrow d = \frac{10}{n-1}$$

$$\Rightarrow a_{n+1} = a_1 + (n+1-1)d = a_1 + nd \Rightarrow 11 = r + n\left(\frac{10}{n-1}\right) \Rightarrow 9 = \frac{10n}{n-1}$$

$$9n - 9 = 10n \Rightarrow \boxed{n = -9}$$

$$t_n + t_{n+\ell} = t_r + t_{14} \Rightarrow n + (n+\ell) = r + 14 \Rightarrow rn + \ell = r \Rightarrow n = 1$$

$$t_n = ra_1 \Rightarrow t_n = r \times t_\ell \Rightarrow t_n = a_1 + vd = r(a_1 + (\ell-1)d)$$

$$a_1 + vd = ra_1 + 9d \Rightarrow ra = -rd \Rightarrow a_1 = -d$$

$$t_k = a_1 + (k-1)d = 0 \Rightarrow -d + kd - d = 0 \Rightarrow d(-1 + k - 1) = 0$$

$$d(k-2) = 0 \Rightarrow \boxed{k = 2}$$